Fake Quiz 2 Calc3 11/30/2010

Thisis afake quiz, thisis only afake quiz. In the event of an actual quiz, you'd have been given fair warning. Repeat: Thisis only afake quiz.

1. Compute Q ( X+ y2) dx - xdy aong the quarter circle from (1,0) to (0,2).
Integrate the long way to get —1 — /4.

2. Evdude@ﬁl' Fxnds forthehemisphere S x?+y?+Z =9, z> Oand thefidd F = yi — xj.

Use Stokes' Theorem to get —18m.

3. Evauate ()(sin ysinhx+ cosycoshx) dx +(cosycosh x- sin ysinh x) dy where Cistheline
segment from (1,0) to (2,1t/2).

Integrate usng the Fundamenta Theorem for Line Integras (the potentia function isf =9ny cosh X + cosy snh x) to
getcosh2—-snh 1.

4, Evduateaf; F>ndS , where F(x,y,z) = 4xi — 3yj + 72k and Sisthe surface of the cube bounded by the

coordinate planesand theplanesx =1,y=1,and z=1.

Integrate using the Divergence Theorem to get 8.

5. Evduate, @ F>xndSwhere F(x,y,2) = xi +yj + 2z k and Sisthe portion of the cone Z2 = x2 + y? between the

planesz=1and z = 2, oriented upwards.

Integrate the long way to get 14m/3.

6. Evduae ()( X% - v)dx+ xdy , where Cisthecirdlex? + y? = 4 with counterclockwise orientation.
Q y y

Use Green’s Theorem to get 8.

7. Evdude (g x3,x2 \ xdS, where Sis the surface of the solid bounded by z=4—-x? y+z=5,z=0, and
@ Y, Xy
y=0.

Use the Divergence Theorem to get 4608/35.

8. Compute Q F>dr where F(x,y,2) =yi + zj —x k and C isthe line segment from (1,1,1) to (-3,2,0).

Integrate the long way to get -13/2.



9. Compute 8 <In(1+ y) - £> xdr where Cisthetriangle with vertices (0,0), (2,0), and (0,4).
Oc 1+y
Use Green's Theorem to get 4.

(P
10. Evduate Q. ysin xdx- cosxdy .

Use the Fundamenta Theorem for Line Integrds (the potentia functionisf = —y cos x) to get O.

11. Compute, c‘o: F>ndS where F(x,y,2) = 2y + k and Sis the portion of the paraboloid z= x? + y* below the
plane z = 4 with positive orientation.

Use thelong way to get —127.

12. ComputeQ F>dr where F(x,y,2) = (4x, 7y, —32) and C isthe boundary of the first-octant portion of a sphere
with radius 5 (centered at the origin).

Use Stokes' Theorem to conclude that, since curl F isO, the surfaceintegra (and hence the lineintegrd) is 0.



